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Section A: 10 marks (2 marks cach)

Choose the correct_ answer and write its number in the brackets

provided.

1

How many fishes are there?

(1)
(2)
(3)
(4)

eight
seven
SiX
five

5F




2 Which set has the most number of objects?

(1) SetA (2) SetB

(4) SetD

3 ‘| had 7 carrots.
My pet rabbit ate 3 ¢arrots.
! had .carrots left.

(1) 10
(2) 7
(3) 3
4) 4




4 Which one of the following shows the comrect number
bond?

(1) @)

5 Look at the picture.

There are fewer balls than kittens.

(1) 10
(2) 2
@) 6
4) 4




Section B: 12 marks (2 marks each)-
Work ouf the following sums. Show all vour workings and write the
answers in the spaces provided.

6 Complete the number pattern.

7 Draw more moons ((: in the box below to show a total of
10 moons.

C

8 The sums below show the same answer.
Fill in the correct answer in the blank.

2and 6= ' 5 and 4and 4 <




9  Write an addition and a subtraction sentence for the
pictures shown below.

vAy vA¢ vAg
>

oofesies] %%

©
O,

10 Mrs Tan needs 10 cherries to make a pie.
She has only 2 cherries.
How many more cherries does she need?

Ans:




" 2+4=©'
0-1=Q

What number does (7 represent?

Ans:

Section C : 8 marks {4 marks each)

Do the followin_q sums. Show your workings and statements clearly.

12 Alice ate 4 cookies.
After eating, she had 3 cookies left.
How many cookies did she have at first?

O[]

Alice had . cookies at first.




13 Mr Raju bought 2 cupcakes from Shop A.

He bought 8 cupcakes from Shop B.

a} How many cupcakes did he buy?

O[]

Mr Raju bought cupcakes altogether.

b) His family ate 5 cupcakes.
How many cupcakes had he left?

O]

Mr Raju had cupcakes left. -

END OF PAPER

" Have you checked your work?

£2
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SECTION A

Q1102 |Q3 Q5
11314 2

SECTION B

6.9,8,7,6,5

@@«

8.3

9.6+4=10
10—-4=6

10. 8

11.7

SECTION C

12.4+3=7

Alice had 7 cookies at first.

13.a)8 +2 =10
Mr Raju bought 10 cupcakes altogether.

b)10-5=5

Mr Raju had 5 cupcakes left.
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